392 Geography Paper 2 (312/2)  \ore Past Papers: Visit - www.elimucentre.com
SECTION A
Ariaeaer aff e qrestiony s weetion.
1 lal Marne the rethswd ol irrication wsed in e Perkerra irmizeaion scheme. 1 rowrk

(b Stare three factors that influenced the lecation of the Perkerra icrigation scheme,
13 marks)

2 Sbetbes Domar elMecls of hurmean encroachment o wildhife habitas. 4 marksl
3 [a) Mame two countries 10 which Keova exports peuolean poodusts, 12 imauks)
(b3 State fonre facrors that inHoenes cxtormnal frads in Konva, [ mark=]

4 [al Stute frea Tuctors Ul lead Lo the desveloprnent of nocleaied setlement putlerns.
[2 marks)
(bl Identify two differenees in the functicons of Maivoebi and boew Yock, (4 marks)
3 ledenuify five wavs that are used focemtmol floods o Renya, i3 marks]

SECTIHON B
Ansveer guestion § and @iy ofer TR0 giiesdions e ey seciion,

[ Thes table heliee showes the approsamate popelation stee ol Gur districes in Buirohi in the year

20100,

Low it [0 amEwer (uesrion id)

-
AN NAIROE]

District Population size

Mairobi West aES JI00
Mairohi Fisl [, 144 000
Mairuabi Muorth 162 L
WeesLlarids 247 11000
Tual a1 38 000

Sowree: Kenva Mational Tiorsae ol Stalisbcs.

1al (1} Aarl frommn pac charis, name Dver olher stansical methocds that canhe sed o
reprosent the dats i the table, (2 marky]
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(L) Leing a radivs of 5 oo deaw a pic chart o seprescnt tha data in the talle
shove, Showe vour calenlationg, (4 miarks]

i Caleolate the populabion groweh rate of Nairobi over the 10 year perisd il Lthe
populitions was appeesinatsly 20043 00 0 |9 (2 meuks)

Explain two factors that may have 1od 1o the largs populacion incrocass in Nairobi
otween T9WE ancd 201009, (1 marks]

Erpluin fowr positive elfeces of Tow popalation growt e country. (R 1marks]

The map below shows the location of some minerals in East Atrica.
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ame the minerals moned in the areas marked T, K oaml T, 3 marksd

Explain how the ollowing lactors inllusncs the ex ploitation of rinerals:

(1l mosde of eocurmence of minerals; 4 marks)
(1l [ranspurl; (4 marks
ciinl level ol technaloay. (4 maks)
I’rseribe the opencast method of mining 14 rarks]

Fxplan three benefils of petroleom g 1 the coomornies of hiddle Tus Countries.

[ marks)

(1l W hat is agriculmre! 12 marks]
(11 Telently Towr characterisies of Plantation Baerming in Renya. i+ marks]
Ciive four phvsical factors that inflvence the arowing of tea in Kenya. 14 imauks)
Fxplam four probloms facing small seale rea famming in Kenva. (¥ marks]

o prlun by carry vul a leld stody ina lew Garm.

(1 Give toor reasons why vou need o coute map for the study, I3 marks)
(i1 What infomation are vou hkely wogather ahout markcetmg of processed

tew during the stody? I3 marks]
Identify three sources of renewable coorey, 13 marks)
i Moame three main Hyedro Blectme Pascer Stations alomge the Biver Tana.

I3 marks

i Apart from peovciding electiie posser, state four other benefits of the Jdams
along che Kiver Tana 14 marks)

(il ldentily twa problemes that afTect the production of pesaer From the
stativong wlone River Tana. 2 marks)
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Explain four measvres the Gove rminent of Kanva has taken 0 conserye cnoray,
18 marks]

Some sludentls carried ool a leld stody om sourees of enerey by sapling the
Buowsehiolds acownd ther scluol.

(1 Idc;nrif}' i '_C{-IanlliﬂE techmagques the studentz may have ysed |I|I,II'iI15

the soncdy. 2 marks
(11l Crive three advantazes ol sampling the households Gor e sludy. (3 marks)
Htferentiate manofactuming industrics from terary mdustoes. P2 marks)

Caplaim why the Guovernment of Fenva encourages the seing up ol induostres
i rural areas. (3 nks)

Explain four factors thar have contriboted o che devalopment of clectranics
indnsemy in Japan. (% marks]

row tntend B carry wul a held stody ina nearhy st olhce.

i Idenrity two chavacteristics of a 2o hvporthesis for the swdy 1.2 marks)
(11l State three advantares of using the intervics method o colleet dats
tummg the stody. (3 marks

(il Give twao challengzes facing postal services that vou ace likely (o find our
during the study, 12 marks)
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